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MEPENIK
3axofiB 3 NoAiNWeHHA caHiTapHOro cTaHynTcNe
BoropoayaHcbknin CAJT Ha 2023 pik
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Migri pceke N1-BO
10,0 3,5  5[3816kn2An1r310c+6n 76 0,60 1 32 22 200 4 CBP  Bcux. pak [13B 84
1,0 1,0  6Au25nl C3sl [3s+bn 61 060 I 24 20 200 4 CBP  pak Slirkop.rH. 31
11,0 4,5 115
rnnbokiscbke J1-BO
3,5 3,5 56n30c1 A3slsAne 71 05 1 22 21 180 4 CBP  CT.THUJb,CYXOCT 65
6,0 6.0 3[3866nIAne 7% 065 26 22 19 4 CBP  Bcux.fine.pak A3 143
0,5 0,5 4r340c1/3816n 61 05 2 20 19 150 4 CBP  CT.THWNb,TPYTOB 6
4,0 4,0 5/[13826n20c1l3 7% 05 1 28 23 170 3 CBP  CT.THWb,TPYTOB 38
2,2 2,2 6/3826n1I3tOc 76 0.5 1 30 24 170 4 CBP  CT.THWIbL.TPYTOB 30
2,7 1,0 5Ane2Au2/381 Bk 81 0,5 1 30 23 230 3 CBP  MoLIKoA, BITpOM 22
5,2 5,2 801381 BKn | AAn+M3+5n % 06 | 30 24 270 4 CBP  Bcux fine[i38 132
0,3 0,3 1051ne 81 0.25 1 32 23 140 3 CBP  Boux. Sne, kop. ry6ka 10
244 22,7 446
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CoO/10TBUHCbLKE /1-BO

1 82 4 2.7 [ 2,7 | 9bknldrie 71 0,65 2 28 20 250 4 CBP  Hekpos bk,BcuxaH 90
pasom 2,7 ' 2,7 90
Bcboro no

Borop. CANI 38,1 29,9 | 651,0



